100m

BF 18 (+ - - m)

L-v | No. K% ¥ i@ [=Niva 8%
1

2 27 PR ERH 3 RKIK 4 10.75
3 61 FEEET 2 BEITK 2 10.58
4 22 BEEX 3 ZITK 3 10.61
5 21 TIREE 3 ZITK 1 10.61
6 70 FHED 3 ENEpN 5 11.10
7 26 A BB 3 KIK 6 11.14
8

BF28 (+ - - m)

L-v | No. K% FIF i@ [=Niva FCEK
1

2 44 FHEX 1 RKIK 11.95
3 28 | dbARfERE 3 KIK 11.40
4 45 AOEE 4 KIK

5 51 = M FEE 1 BEIK 1 11.47
6 5 | ZTES 1 ZTIK

7 | 11 | #HAEH 2 ZTIK

8 6 EHER 1 ZILTK 3 11.82
BF3E (+- - m)

L-v | No. K% ¥ i@ [=Hiva A%
1

2 35 HEFAK 2 RKIK 12.03
3 A7 | EFBEKER 4 RKIK 11.90
4 | 40 | FRDZE| 1 AIK

5 42 ERAXK 1 RKIK 1 11.6
6 10 FN e 2 Z LK 3 12.09
7 41 F AL 1 RKIK 12.03
8




BF A4 (+ - - m)

L-v | No. K% FIF B [=Niva FCEK
1

2 | 13 | BFKAZE 2 2T K 2 11.71
3 | 34 | #FEH 3 KIK 5 12.42
4 | 31 | HAHE4L 3 AKIK 3 12.09
5 | 32 SEESER) 3 KIK 6 13.29
6 | 12 R 2 2T K 4 11.83
7 | 80 AL 4 HIK 1 10.68
8

XHADEB - OP ¥ 1M (+ - - m)

L-v | No. K4 ¥ i@ [=Wiva L%
1

2

3 | 57 )1 |fEE 1 HIK 13.32
4 | 68 | mLEETE 2 HIK 14.37
5 | 56 | ®EBET 1 HIK 15.29
6

7

8
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BFIE (+ - - m)

L-v | No. K% ¥ i@ [=Niva 8%
1

2 5 | HTEHS 1 ZIK 5 24.05
3 26 A BB 3 KIK 4 23.68
4 61 | FEEEE 2 EIK 1 22.44
5 27 PR g 3 KIK 2 22.75
6 11 | #ARt%EH 2 ZTK 6 24.08
7 70 FHES 3 ENEpN 3 23.62
8

BF28 (+ - - m)

L-v | No. K% FIF i@ [=Niva FCEK
1

2 | 29 [EBLSERE| 3 AIK

3 45 AOEFE 4 RKIK

4 46 KE—HE 4 RKIK 3 24.88
5 81 BEARKFG 4 BEIK 1 23.24
6 42 | BEEIAX 1 KIK

7 37 | KRAFAER 1 RKIK 2 23.33
8

BF3E (+- - m)

L-v | No. K% ¥ Bi= [=Hiva L%
1

2 31 A 3 RKIK

3 18 BANE 2 ZILTK 1 24.51
4 10 FN e 2 ZILTK 4 25.54
5 13 BAKZE 2 Z LK 3 25.09
6 41 F AL 1 RKIK 2 25.13
7 | 80 AL 4 BIAK

8 | 68 | WL 2 HIK




400m

BF 1 (+ - - m)
L-v | No. K4 FE | B JE¢iva EaE 5
1

2 52 | AR K— 1 BETK 3 55.39
3 | 29 |{fEBELBARE| 3 AIK
4 61 FEEET 2 BEITK 1 51.55
3 45 | HOEF 4 AITK

6 37 | KBEFHKER 1 RKIK 2 52.71
7 23 | BEAKE 3 2T K 4 57.22
8

300m
BF 14
L-v | No. K4 FE | B J[ECiva o8k
1
2 39 KA 1 RKIK 5 2'10"6
3 71 R 3 BIK 2 2'01"5
4 4 AN AR 1 ZIT K 3 2'07'9
5 72 rh B2 K 3 BIK 1 2'00"9
6 16 FHAERE 2 ZIT K 4 2'10"7
7 38 | HAMK 1 ALK
8
BF 24
L-v | No. K4 FE | B E¢iva ZCEk
1
2 54 =R 1 BEITK 2'20"4
3 73 EFER 3 BEITK 2'19"4
4 85 RS M2 BEITK 2'19"8
5 8 L& 1 ZITK
6 82 =MRER 4 BEITK 1 2'10"7
.
8




BF 3

L= | No. K4 FF g J[=Kiva FCER
1

2 67 4TS 2 BIK 6 2'12"0
3 65 ATE 2 BIK 1 2'01"7
4 63 W FE{E 2 2 BIK 3 2'07"7
5 64 k=N 2 BIK 7 2'16"9
6 66 EHEMK 2 BIK 2 2'05"1
7 61 il E= 2 BIK 4 2'09"4
8 62 V=g 2 BIK 5 2'12"7
ZF 14
L-v | No. K% FE | AR (=¥ FCHR
1

2 59 BT = 1 ERIK 3 2'40"5
3 50 Fr el 1 AIRKR 5 3'06"0
4 79 JREM 3 EBIK 2 2'35"7
5 84 | HFHEFRMK| 4 ERIK 1 2'33"5
6 7 =T 1 ALK 4 2'42"2
7 58 | HI <5 1 EIXK

8
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B7 14
JIE | No. K% FF Bl l/=Kiva ACEK
1| 66| FHHMKX 2 EIK 1 4'11"4
2] 72| HAEBEX 3 EIK 2 4'11"4
3] 73| EHER 3 EIK 4 4'23"2
41 82| =AHgK 4 EIK 5 4'23"9
5 83| KEFRiE 4 BETK 3 4'17"4
6 4 AFFKA 1 ZIK 6 4'27"1
7 8| WWHEFNE 1 ZTK
8| 33| BEHEEL 3 ALK 13 5'9"5
9| 43| MFHEA 1 RIK 7 4'32"6
10[ 38| HHEK 1 AIK
11| 14| BEf(REe 2 ZIK 11 4'57"0
12| 75| BHSE 3 EI K
13| 55| AREKX 1 EIK 10 4'45"9
14| 74| HRLHE 3 EIK 12 5'05"6
15| 78| =M 3 EIK 4'41"9
16| 15| =& #ER| 2 ZIK 4'45"0
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B¥ 14
JIE | No. K% FE g &3z S0
1 12 RATER K 3 EITK 2 16'06"4
2 85 (FEREIA S M?2 EITK 4 16'54"4
3 66 F=as il 2 BHIK
4 83 KRBT Ak peE 4 EITK 6 17'11"4
5 76 BREEH 3 EITK 1 16'06"3
6 73 =8 ER 3 HETITK 3 16'39"9
7 82 =R R 4 EIK 9 17'11"9
8 65 HTE 2 ElEpN 7 16'54"8
9 64 BTHEEXR 2 EITK 5 16'54"8
10 78 Eysafape 3 EITK 10 17'58"9
11 30 SH—E 3 RKIK 12 18'35"1
12 63 gt 2 EITK 11 18'25"3
13 | 14 | BEHMEEE 2 %I K
14 15 | K& # ik 2 ZITK 13 19'44"3
15 9 EHAE 1 ZITK 14 20'49"32
16 67 AT 2 BHITK 8 17'17"25
110mH
18 (+ - - m)
L-v | No. K4 Sak:S g [[=Kiva SCEK
1
2 19 ARIE= 3 ZTK 2 15.66
3 EHRER 1 ZIK
4 EHE 1 2T K 3 15.76
5 20 ECRE E 5 3 ZTK 1 15.18
6 53 WNHAE 1 HETITK 4 17.9
7 77 | EENEKX 3 BT K 5 19.54
8 3 TAEFTR 1 ZIK




100mH

OP (+ - — m)

L-v | No. K#£ FIF i@ [=Niva FCEK
2

3

4 57 )| fE 1 BEITK 2 17.61
5 60 | H)IIZEMZ 1 BT K 1 17.17
6

7

8

400mH

BF 18 (+ - - m)

L-v | No. K% ¥ Bi= [=Hiva A%
1

2 19 AT 3 ZITK 5 67.87
3 61 | FREEE 2 BEIKX

4 18 | 'EAME 2 ZTK 6 74.97
5 20 ECERIE 18t 3 ZITK 2 58.02
6 80 AL AT 4 ENEpN 1 55.83
7 53 NH = 1 ElEpN 3 62.05
8 6 | ZHZFA 1 ZIK 4 65.89
BF2# (+ - - m)

L-v | No. K# FIF B [=Niva FCEK
1

2 85 FRRIEE M2 BHIK

3 17 s N 2 2K

4 81 BEARKFG 4 BEITK 1 63.57
5 2 EHE 1 ZIK

6 23 EAKE 3 ZILTK 66.88
7 83 KEFR & 4 BEIK 66.96
8 16 FHAERE 2 2K
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2L #ZT KB

EJE | No. K4 FE
2 HHRE 1
19 ARES 3
10 [N 2
13 | BERKRZE 2

B 4 Bk 45.77

4L BT RXHt

EJE | No. K4 FE
70 FHEL 3
7 | EENEKR| 3
62 RV = ok ) 2
61 FEEES 2

B 2 CEK 43.72

6L ZT KA

ZEIE | No. K% A
5 AT & 1
21 | JIRER 3
22 | BEEX 3
20 W | 3

a1 LK 42.62

3L AKIAKB

FEJE | No. K4 i
41 FTHAK 1
28| dbARfERE 3
35 HEIFAIK 2
44| BFHEXR 1

Bz 5 SCEK 46.22

5L RIAKA

FEJE | No. K4 i
26 A BB 3
27 R ERHD 3
37 | KBHKER 1
42 BRI 1

JEfz 3 ERE 43.98

4L KA HATIEF—W

FEJIE| No. K% Cakes
81 EZWN 4
80 AL AR 4
53 WNH A& 1
52 AT K — 1

IERZ 6 SCEK 47.20

6

4
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41 ZT KA

EJE | No. K4 FE
20 ECEE E 5 3
21 TIREE 3
16 FHAERE 2
22 BEEX 3

gL 2 ERE 3'31"06

6L BT AR

FEIE [ No. K4 Cakzd
52 AT K— 1
61 FREEEDS 2
53 WNH A& 1
7 | EENEKR] 3

B 1 =053 3'26"55

3L KT AB
FEIE| No. K4 A
30| SH—E 3
39| KB 1
A1l F T 1
AT| SEFBEKER 4
JBR 5 5% 3'55"55
5L KT KA
FEIE| No. K% S
26 A 3
27 &R 3
37 | KB KER 1
43 HHE A 1
ERL 3 S05% 3'45"08
7L £ TAB
FENE | No. K4 P
18 BRNE 2
13 BAKES 2
1 FHE— 1
9 EHNE 1
Efz 4 Elag 2 4'08"19 5

6

4
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3L %I KD
EIE | No. K% ke
11 | #ARH%EA 2
10 | #pKfEEE 2
17 | EREXE 2
12 mRIE 2
JIERz 3 SO 3'62"69
5L ZTKE
FEIE [ No. K% FE
2 BEHE 1
5 HTEm 1
AIEHTR 1
25 | RUSEL=- 2
IERZ 1 08k 3'47"23

2L #ZTKRC
EJE | No. K4 FE
23 | BAKE 3
6 EHEG 1
19 ARES 3
15 | =RBI B/ 2
B 4 CEK 4'04"30
4L AT KC
EIE | No. K4 SE
29 | SH—F 3
39 | KB 1
41 F A 1
44 FHEX 1
[=Xiva LK
6L | FHOBRIREZ T 1 —
EJE | No. K4 PE
80 LA 4
8l | BEAKG 4
70 | FHEE 3
51 | =pEME 1
B 2 CEK 3'61"69




31

3L I AEIEREB?
FE] No. | K& | 25
66 | EEMA | 2
67 | mEHE 2
64 | mimELR | 2
63 | Ww@EE | 2
[[=Kiva 1 ERE 3'52"51

4L AIH % 5F & 7L

EIE | No. K% FE
72 R ER K 3
6 | BEEE 3
78 | =EHEHAES 3
73| EEFER 3

Bz 3 SO 3'66"95

6L BT KA EERE

ZEJE| No. K% RE
78 | HERY 3
82 =FFR 4
71 | ALEHEKR 3
54 | HIRIHE 1

IERL 2 FCEK 3'566"40
RyFxarXyFxarnNy

o Farvcl !l

EJE| No. K% RE
82 =FFR 4
83 | KEFpkHE 4
84 | HFHRK 4
85 | FEAE M 2

IRz 4 L% 4'05"61

b7 v oBEAR R

52 35 76



50m

OPB¥1# (+ - — m)

L-v | No. K% FIF i@ /=Niva SR
1

2 22 BEEK 3 ZILTK 2 5.92
3 46 KB —HE 4 KIK 4 6.15
4 44 FHEX 1 RKIK 6 6.17
5 42 2RAXK 1 RKIK 5 6.18
6 21 TIREE 3 Z LK 1 5.76
7 28 | dvAfgrass |3 KIK 3 6.15
8

OPBF 28 (+ - — m)

L-v | No. K% ¥ Bi= JEfL FOBK
1

2 20 ECERIE 18! 3 ZITK 2 6.18
3 5 AW 1 ZITK 3 6.06
4 35 HEAK 2 KIK 5 6.32
5 37 | KBEFHKER 1 RKIK 1 5.93
6 19 RIRIEST 3 ZITK 4 6.16
7 40 | AT DzE | 1 KIK

8

OP BF 3 (+ - - m)

L-v | No. K% FIF B l/=Kiva SR
1

2 62 | IEHRE 2 BIK

3 32 H e #) 3 RKIK 3 6.90
4 34 EFER 3 RKIK

5 17 R K 2 ZILTK 1 6.20
6 12 =mEI& 2 Z LK 2 6.13
-

8




E MRk

R DEB
AEE| No. K4 g 1 2 3 =4 NEfiz
X 3m95 4m12
(+ - m) (++= m | (+-= m
1 | 60 [ Z)1IsHhz b 4m12 6
3m95 3m98 3m98
(+ - m) (+:= m | (+-= m
4m11 4m11 4m23
. (+ - - m) (++= m | (+-= m
2 69 HlAE RIK 4m28 5
4m10 4m06 4m23
(+ - m) (++= m | (+-= m
5m63 5m83 X
(+ - m) (+:= m | (+-= m
3 81 BAKG EIK 5m85 4
5m8b X X
(+ - - m) (+-= m | (+-= m
4m90 6ml16 5m98
N (+- - m) (+-= m [ (+-= m
4 3 FIEFTR ZITK 6m23 1
X 6m23 X
(+ - - m) (+-= m | (+-= m
X 6m05 5m74
(+ - - m) (+-= m | (+-= m
5 | 77 | EFNEX RITK 6m15 2
6mo01 5m33 6m15
(+ - - m) (+-= m | (+-= m
5m89 x X
6 | 36| ==m G e L w T W e 3
5m89 x X
% PN £
4 2 1




= B

XD ER
S FE| No. K% g 1 2 3 == [[=tiva
9m28 9m22 9m59
1 | 60 | mzmz g o m f s e m g 5
RS 9m39 9m03 9m4s8 m
(+ - - m) (+-= m | (+-= m
8m86 9m35 8m91
\ (+ - - m) (+-= m | (+-= m
2 69 A FIK 9m39 6
9m39 9m26 9m02
(+ - m) +:= m | (+-= m
x 11m39 11m84
(+ - m) (++= m | (+-= m
3 77| EENEKR BEIK 12m16 3
11m59 12m13 12m16
(+ - m) (++= m | (+-= m
% 11m81 X
2 | 36| =z=m Grp e o m 1 m e W0 4
X X 12m03
(+ - m) (++= m | (+-= m
13m14 x 13m20
5 | 1 | Haxs— prp m o m 1 m B W a 0 2
X X 12m30
(+ - m) (++= m | (+-= m
13m28 X X
(+ - m) (++= m | (+-= m
6 81 BAKEG BEIK — — — 13m28 1
(+ - m) (+:= m | (+-= m
% X =
3 1 2




fiel A3

W DER BF
SHEE| No. K4 ZE| B 1 2 3 == [=Civa
4m46 4m99 X
1 85 RS M2 | EITK 5m05 4
4m86 4m71 5m05
5m07 4m63 3m17
2 77| EEREK | 3 | EIXK 6m17 3
5m95 5m78 6m17
X 8m06 X
3 49 BRI 3 RKIK 8m78 2
8m78 8mb5 8m25
9m38 9mb2 Im74
4 48 AT H 4 RKIK Im74 1
Im69 9mb2 Im24
% X =
3 1
4 2
74 —ILFEETR 7 10 13
N == ki 52 35 76

eREEAF R 59 45 89




